QaumpBsis af omeinBurk - Exam Time Tips & 1
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1 O O aursias uriiGurd !

SIBUTTHS Lomewiey realsCer! O@Tehsd HULIOIG SWTMHHTEO SaisdHHe0 BIMBODISES BIDI
aBlug seyd eelg. (WHeled HLIOBmDer, Ueenm HLLO LS SigrienLwns OCsrem®
uuiBd Cublsmeiienmiser. Laneumh Consamearsmen (WampLiLy LRLBpRItiser. Goum o migsei
USLOMGLD.

ydw um gl (New Syllabus) opfwsubssiu L UBg  Qeuefulilul Gerenr s
e HTeMedr 61QeIeMLOLIL]

Q(H WLHICLEHT 6lleTTdHe6r 14x1=14
One Mark Questions
@yewi(h FHLIGLew afeimebser | 10 x 2 = 20
Two Mark Questions
MbH LFHLIOLIEHT 66T SH6iT 10x5=50
Five Mark Questions

(B HICUETT e llenTa 6l 2x8=16
Eight Mark Questions

OoTsHs  LFHLIGILIEHTIS6I 100
Total Marks

Bl alMHBHTT aUgeuemLOLIL] QLML UNeD aleTdsEnd@ 6ty uuind GumosmeTeug ey
aflewL_Wefllugl 6160  HTEmIGOTLD

8 wAlCuewt ealemabser (8 Mark Questions)

alem erewr.(Question number): 43

vV 8Os ealamoa QuIpISSa) @b elam  Gauiies  angaluieded (Practical Geometry)
Amha Calslup. Bbhs alamalBg el weildd Laeumd Heudh@aHmen Heng Lulig
Qauigl Oametenr GeueumT(BLD.

vV agGeanss psBsrammise aemgsed (Construction of similar Triangles):

a.am (Example) 4.10, 4.11 wmpid wuisd (Exercise) 4.160 sewics@ etewr 10,11,12,13
v wa&Basrenimissi auenysev (Construction of Triangles):
a.am. (Example) 4.17, 4.18, 4.19 wmpmid wuipd (Exercise) 4.26v 11,12,13,14,15,16,17

vV el LsdbBe 0s16Cs1G auampsed (Construction of tangents to a circle):

a.am. (Example) 4.29, 4.30, 4.31, uuipd (Exercise) 4.4e0 11, 12, 13, 14, 15, 16
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QFwipemp angailulsd - @@ uUGluTwley / Practical Geometry — An analysis

alem semioriy/ Type of question e etewr  / Q.NO &niiy / Note
L] agblanmss WaGamammise | a.51(Example)4.10, 411 | sagmugma  (COMPasS)
oUED HoV Lulié(Exercise)4.1: LUSTLGSHSIHE Sre0LILD

Construction of Similar triangles | 10,11,12,13
(6 mewE@GH6 / 6 SUMS)

2 | waBasranid euengshed (Construction of triangles)

(i) suglusaED, o Fd&CHTanid er.&m. (Example):4.17, CaTBSSII L 19dfl  SjeTemel
DBBID SIYILGESSHHBE _ 90° o Bmba s
UEIWIILGL BESCHTH uulbal(Exercise)4.2:11,12 | (Subtract) GeuewiBo. @55
The base, vertical angle, and Galigelt  [BemD  SEmTQLILITE

onss  Geuemipo.  (Must be
mesure length of the altitude)

the median on the base
(3 mamsGHem [ 3 SuMs)

(iowrissn, o §d6Csmembd | o.ar. (Example):4.18 OaThdbsinrL g
LOHEILD SIYLILSBHBH MBS gememal 90° & BHhel
AUDTWILGD &53I5CHTH uudmgl(Exercise) 4.2: 13,14 B0 (Subtract)
The base, vertical angle and the Gouewi(BLd.

altitude on the base
(3 saudGHen | 3 SUMS)
(i) owriussbd, o FfsGsramd | or.am (Example):4.19
BBID o FF&HGHmentdd e
BHFLEaIL Y SIYLILSSEHMS uuime(Exercise)4.2:15,16
FhHBSL Leiterl
The base, vertical angle and the
point on the base where the
bisector of the vertical angle
meets the base
(3 sauidGHen [ 3 SUMS)

3 | alLsane 05168s1G eaumysev (Construction of tangents to a circle)

MDWSHMS LSBTGS or.am. (Example):4.29 eniowib  (centre)
Using centre @ asams@asi / 2 Sums) Lulid(Exercise):4.4- 11

IBHI L SSIwE CoBBHmE | a1 (Example):4.30 OTBHI QUL HSIemIB
LWSTUGSHS

Using alternate segment theorem | uuig#i(Exercise):4.4- 12 | (alternate segment)
(2 smavaGHen /2 SUMS)
Geuefliiym yeitell  Pulled(mbai er.a. (Example)4.31,
B® CHTECHTHEST auam)5H60 Lulid(Exercise):4.4
Construction of pair of tangents to
a circle from an external point P
(5 sasGHem [ 5 Sums)

Qe 24 seibGHHen L BOL UdHHHHHe0 OETHEHSLILIL (HeiTendl.
Only 24 sums are given in the book

—13, 14, 15, 16, 17
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alem etewr (Question number): 44

v aeguLmismen  (Graph) Guimisseueamy Bubsalsn  (Algebra) eem  seveornies  &p
QarBaHBUILL (HelTeng.

v ormunGeefen eusngutd (Graph of Variation) u@gulsd 10 eleumesssir 2 _sitene.

v ®ougssoaiunhsaeiear  euewyuLmiser  (Quadratic  Graphs)  u@Huled 2 eitemr 20
smibGHHemenuld Fflwmer (weopliuy LUWIBd GFuigTed WL GG 8 wWHIGLET GUMB (LpIQuULD.
alleiT 6UMB allem ©jemLoLL] QIlGOIT  GTEmT

Question Type Question Structure Question Number
Type l X e Qa1 @f B e 6T6wr er.am.(Example):3.51(ii),(iii)
Coefficient of x is a even number. er.am.(Example):3.52,3.53, 3.55
o gryenid (Example): vl (Exercise): 3.16
x2—8x+16=0 L (i), (iv), (v), 2, 8
[ Lsusnemiuied (table)
LwWeTLI(H S SHCeuemiigul
Shortcut 1-3-5-7]
Type 1l Xer G T obews erew
Coefficient of x is a odd number. a1, (Example):
o_gyenid (Example):x? + x —12 =0 3.51 (i), 3.54
Lﬁ%ﬁ%g;gﬁgéﬁble) uulmgl(Exercise): 3.16-1(i)
Shortcut 2 - 4 - 6 - 8]
Type 11 x% &1 Os1p @JLenL  eTeuwt
Coefficient of x? is a even number.
2 gyemd (Example): 2x* —3x — 5 Ll (Exercise): 3.16-1(vi), 7
[o1” Leusnemiuied (table)
LWeTUG SHSHCeueumtigul
Shortcut9-5-1-3-7-11]

1. Uereumd mUQEF FOSTUTL Q6T SHTa|beMeT SHETNOMU IMILILLD (LpeolD QITUIS

Discuss the nature of solutions of the following quadratic equation x> —8x + 16 = 0

x2—8x+16 =0 a1 auemyuLsma (Graph) euemyw msE@ aflans Gsmg useflaser (ordered
pairs) Caewal. SIMH HEWIL MUl QUDSHHIOTEHT HEWIHEBHMET LIWIGTLIGHHIGMTID. DLeTTed DiaIBens
shortcut (pempuied eteurporm  GuTLeombd. BHsH SWSHed X 6 Os1y Sl L (e
oTewteuTGLD. 61eiGou  Type-l erandOsmet@ourid. Type-l ug x &1 yeTel @ImId y 61 LeiTer
@emID HwiPihHTe0 Curaid. SiFHeaiiyg 1-3-5-7 aemp shortcut-sg pd@E S G5 LeTefulesr
aueLIUBLD @)L LB Snl 1950ETemICL OFebe0 Y 61 WL SenL &G L.
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x2—=8x+16=0 g8 ax?+bx +c 2 Lar guiL (compare)

a=1b=-8c=16 [ st 351 (ii) ]
x yeited (point) = — %=§=4

y yeed (point) = (4)2-8(4)+16=16—-32+16=0
yere (point) = (4,0)

x| 0]1|2|3/4(5/6|7)| 8
y116 /9 A 110 |1 A 2] 16
7 3 MY 3 Y5 Ny

L. x*4+x—-12=0 g ax’+bx+c o Lar guiL

a=1,b=1c=-12 [ er.am 3.51 (i) ]

x el = — L= —1 g5
2a 2

Sjewtento LeieMase: 0 woppid —1
f(0)=(0)*+0-12=-12
fED =D+ (1) - 12

=1-1-12=-12
yetefase (0, —12), (—1,—-12)

x| —4|-3| -2 | -1 0 1 2
y| 0 ]|-6]-10|—-12|-12|-10]-610
6 4 2 2 4 6 8

Type 1

L. 2Qx—3)(x+2)=2x2+4x—-3x—-6=2x>+x—6

w
N

(o]

2x2+x-6=0 g ax?+bx+c o e uuiL
a=2b=1,c=-6

[ uuimd 3.16 — 1(vi) ]

X Lsiref =—%=—i=—0.25

Sjewtento LeeMaer: 0 wppid —1
f(0)=2(0)*+(0)-6=-6
f-D=2(-1D?>+(-1)-6=2—-1-6=-5
yetefleeir (0, —6), (—1,—5)

x| =3 |-=-2| -1 0 1 2 3

yl 9 ]o|-5]-6]-3] 4 |15
9o s 1 3 7 11
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5 wAHliuewt alemdser (5 Mark Questions)

v Blue print Seveuns &MyemihsTen 6bhs LGHUI0 SMHbal 61HHmeT Il aUIhHD 6l6Lms CFmevaIg
Slgeild eTBTeVID LMD 1,3,5,8 udieubiied Simeaiddl aleamesehds@h LuIBS Cxheme.

vooumLib 360, euitds-cpevld  (Square root) sFubSLL L Hewie@&EH6T  BHID  LPeuEIG6Te  GHeTemnio
(Nature of roots), oiemiser (Matrix) wimpb a, B FDUBSUL L SISGHHEHEGH LUIBS Sjeuduib.

v umLib Sev mimeysden gl (Area of the quadrilateral), (psGsramsbadest Ly (Area of the trianlge),
@8y GETEGam 1Iged oemiould (collinear), amiiey (Slope) FbubHLI L  HERIBEGHmET  (LPEDMBLILIY
uulBd(Practice)  Qauiged oeudunb. Luind (EXercise) 5.4 wBmibd SiH6T 2 Ll 61BhSHHIGSM (B
(Example) asems@amen s Lulpd (Practice) eiBHEmed  (1p1p AIGLENST GLB6VTID.

v oumLih 80 g Lelevsasid (Standard deviation) wmmid @enGeuedl  (Interval)  sewms@ser,
wrgum_ Gesw (Coefficient of variation) semis@send@d LUWIBE Deudfwib. Babssaied LB
8.4 LBMID SIF FOUBSULL eIHSHHHST._BHeT FWaBBBG s uuiBd Seudwib.

v agalwed Hemeornied BGxmmmiseaiey (Theorems) (Bseved Bammid, Camewt BmawOa 19 CHBMID,
Harayed Gxmmd, wmidmew Gsmmi) uuipd (Practice) spudlwib. Goeibd  £IHCHBMEISH6
FOUBSLOTET SewidbGDHamen LWIBS CFuihTed @beH UTLSHHO (P HUGUemET GLBeVTLD.

v 5 wdliCuemiamen  QUTpIHSam) &Lt elemalBg (compulsory question) wrBmielert
Bevemev eTaLmS Heneraled Glameiren Geuemr(HLb.

vV @ Galmen 2 _miG6NTed Hev HaISEGBEHHE oL wefos (puialsdmed 61660, el 616u56m6uN
Cum Ball B, oIbsd olamalsd e CaThssiiul G (Given) BmesdBBsT Sims 1L BLOTaIH
(D8 (WWBF QFUILBISHET.

2 wFHlues elemaser (2 Mark Questions)

vV ®liugHuled @m Feo alamsse, aenguieny (Definition), apgeser (Properties), Gammio (Theorem)
(W& augamiseTed Gsl SLEBLD 6IGILSTED SDILLIGHBMET Bl ST GFuliIgh OsmeiTemeyLb.

V' 2 wdliGue alamasmet GUTHISSMmT, 10 elemasen almiuleloas GCaewiBn. BHeid &l L
alamalBa@ WwmBp elam Semen. BTeihaeio Gupul L Creative alemdser &(mHe@LD.

1 wdHouewr alemdser (1 Mark Questions)

v o1 w@Hiuen  elemalBE UM LssHHHe0 GClorsHsupetsn 125 efamesmenu)d  bei@  LulBe
QewimpTCo o mFwTs 12 wHUGLEIEMmT LB ulsvild

vV ophssl 3 SeOevg 4 elamesel LSHssSHeE  Ceualuledmbsl DiSTeuE  SLMMNHSILL L
allemeurs B(HBGSLD.

v weaiGaimn Garmenen (Progress Check), diseman sembd (Thinking Corner), alenge; @mlui®
alemmsser (QR Code Questions) Gumesmeumpniled LuIBS oeuduid.

v o wdltue  alamssensd el QuipsibCurg el e alomL@pui’ @ (option)
oTewiamIlD (HHE Gouewi(BLD.

vV @ wHCU elamasmen GUTDIGSM®m Sl aw Cxiey (Self test) GomOsTsienGalewiBid.
QeauBldbE aufl LUWIBH LUbsEHMma (Way to success Practice book) giewewiwins GQsrewni(p Lulmpd
GLoBO\BIT6ITETHHIGHENT.

vV o @m waCues s BsiTe] GIPSHIMSBOBE HENWTE @b CHIL ML  06lUSHHIHOBTETEHRIBE.
SIHHCHTLI960 FHer(pld AT6wI(h LITLHISEHHBTRN @(H HLIGILIET a6l 61(1DFH HWIMITGHMBISEN.
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V. @@ amgd sfgE, HeIpd 5 UTLRIGEHSEHTE Qb WHIGLE alelm 6105 SWITTTEGRIGE.
IBBS SIBSS uMIHHeOHHEH HIPD 8 LTLMISEHHBTON @H LOHLICILIHT a6 HmeNuLD
apd SWMTsCeuemi(hd. BeuBBiBasTs BRIS6T BhSHHECETeEHD GBID 30 B mseledmbal
45 BOLHFBSGH6T BHDHHCevemt(BLD.

v aw Gaialar Guigl el eew 610, almidstar GHui G ees (Option) wHpd eflenl
SLFWIBMB  6T1(LYH COBTETEHRIFET. O HTJ6EmILOTS,

QM 2 My HSPFFUNGT HHDSHH6] S) 1 &) 0 @100 @) 0.1

Probability of sure event is a)1 b) 0 ¢)100 d)0.1

Obs alamalmer SFWlHTaler GCurgl eflerm eewr 1. &) 1 eaiml 611pd  OsmeitenGeuewi(hLb.
@eleuTty BB laTedBEhdGD  allewl welldsCGalemi(Bld. L6l — alebLSenen LS HdHH ) eor
o galujLer Fhum(HmIGeT.

v uipd  (Practice) GupOsteiepbBurgl  Hev  alameoeEhoaTal ol BmeT  HaUBTSH
WHUIBHSTe0, alenLsemen giunTes et Seupts allenlweflshs alamalmer 4/5 (wenp uuipd
GoBoETeiTEpmISET.

vV Belenm GFUIISeET clpevld Saumisemen (WBPeIoTs SHalishs OUTHIHCHTald @ &GN
allemésaied (W LHIGLewIeTer 14 -equjb QLIBIPIQULD.

[ Capiaysly swrrrszgso (Exam Preparation) ]

o saisiuTLSHe0 Uilgase (understand) (wsdwidbgieud OETHEIS6.
LT  QFUIWD  UpsHsHmS MEBAIBMmIGT. 6@  LHIIGILI6NT
alemsbaeEnrds@ Leaeumb (wompulsd Caseallenul SienLWmend el Hd
uglemev eTLILTL LD GFuwiwimosd, Uflbg OQsmeni® LgeverldaGeauewiBLb.

Given F,=3and F,=F_ +F , then F, is

(A)3 (B)s (C)s

* GSHTRBMET Hemaialed OBT6ITEHSH60

o memenulesr eueweruyiily (CSA of Cylinder) = 2nrh

Gursgs yptiugiy (TSA of Cylinder) = 2nr(h + 1)

Amd SILgGuw wertiuTLD  QFwIwImgl, Weteumorm STEAUUBGSHS  Henaiailsd
O BIT6IT(ETHRIHGIT.

My A =2nr° + 2mrh

CSA = 21r X h = 2nrh TSA = 2nrh + 2nr?
=2nr(h+r)
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b,
o memenulest saroieney (Volume of the cylinder) :

=
D
= gpudsd X o wpb (base x height) g

=nr?h &

amibllenr sanoleney (Volume of the Cone)

1
=-nr’h
3

GamengHar sarsiena (Volume of the Sphere)

1
=2X gm‘zh

= % r?(2r)

4
=-qrs
3

SImyECaTeasHar saraena (Volume of the HemiSphere) = gm‘3

SOH-CAH-TOA
FhsHEST.(H 6.20 saquilsdehs @@ UlLD 75 15 2 wrsdHled
UDSEDE. QU HT e&msorh SH&EMOlsLNeEs sSeoTulst m
yemerflufled ULLID SULOUL(bETENS. [HIT6D SHEWTUL 6T DLbSHHID
smieyd Gamevud 60° erevfled, mHedledr Hermbd SMetord. (HETeNed (B
CrieCamLns eT(bH&IsHeSTETETEYD).

A kite is flying at a height of 75 m above the ground. The string attached
to the kite is temporarily tied to a point on the ground. The inclination of the string

with the ground is 60°. Find the length of the string, assuming that there is no slack
in the string.
GIVEN - OPPOSITE SIDE AC
sin 60 %
e ASKED - HYPOTENUSE P
% . \_( [ , 150

—_ = A 50v3
2 AC N

V3
Hence, the length of the string is 5073 m.

b %A

®bhs alamaled eFjubsd  (Oppostie Side) OarBéHslIUL (BeTengl. [HTD  H6wID
(Hypotenuse) sewipfwiGaiemihio. SOH-CAH-TOA eaiiLiens Henaialed Gsmeiealdhet eLpeoLD,
O Qsfuw, H Gsflurs @isBg S (Sin) 8 wwasuGsHs GCaemipd o aelisHTa b
O T6IT6meVLD.

o absHGaT B (Example) elemssemenuyn, vuipd (Exercise) elemébsenemuyd — oraifl
alamheTesemenuld Gdmenih  Hapby, SHmbu LuIBd aBHHS OBTETEHHIGHET.
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[ Gziay Simpuisd... (In Exam Hall...) ]

Caxeitalba el LigdHHev (Reading Question Paper)
V' CoeiaGHTeneil  OQUIBBEILGT LOTewIeN  LOTEIEIS6T  Diend  &enLd
elemeledmbal eleurm elsmmeursd Gosv GETEE LglLgl FBbHHEH!
vV omtag 8 &G, 5 wHlGuem, 2 WwHrCUe WBEID 1
AICUeET 6Tl LgHh Il  umTds  CeuemiBd.  Dieisur@m
allenL WelHHTedL HELEVGI.

8 wFHlCuewt elemasst (8 Mark Questions)

v
v

Cmeitedl etemr 44 eusmyuL LD (Graph)
Cxeitall etewr 43 QFuipens eugaiuisd (Practical Geometry) syslwieuBenms UTTHS
HeeDLIBmHmU  GLUBBISCBET6TEN  CeuewT(BLD.

5 wHiCuenr allemmassit (5 Mark Questions)

v

v

v
v

Q[UOUTIREH 296z alleimellsd SmbH 4leug elledm eueny (5 WHICUSTIE6T lenm) LIgHH
IF60 9 alembsemen BHiTey QFUILH GHmeitem Geusmi(HLb.

Cotey Oauwiwp Gurg, Gsealssrellsy 6bhs elswrar GBUWIGSEHLD OCFUILS Sl TH.
e HBG6TGem (e CFuwIgk OCsmeiten GeuewrHLb.

S LTS LUFHeverldbs Calsmri(BLD 61613 6Xleoim 616001 4280 MHTEIOTS LIgdhdl LigevsNdsds Geuswi(BLD.
o5 Crhsd gBsaBa Cpie GFuihs 9 elem wBmd sl LTw efem (Compulsory
Question) 1 eteor 10 ellembsEndE alenl weldbs ColewiBLD.

2 wAUGuewr elemaset (2 Mark Questions)

v

v

v
v

AUCuTEH 1561k alammailsd SmbH 27 eugkl ofem auedy (2 HICLeHIET l6dT) LigHdl
P60 9 alembssemen CaHie GFuig OHmeiem Geuemi(BLD.

Cxey OGauiup Gurg GCx:etaldhsTefed 6bhdH eilsomer  Gnluisend

QFuiwds gL ngl. LaIHBG&H6TCem (Wige] QFUIH GaTeten GealswrBLD.

S LTWIDTS UHleveildbd Galsmi(BlD 616l 6ol 6T6wl 2883 HIHTIOTH LiGHevellds GalswmiBLo.
o5 Qrhsd gnsamBa Gxrey GFuis 9 olem wipwd &l Lmw efem  (Compulsory
Question) 1 eteor 10 elleimémEnHE el Weldbs GalswiBLD.

1 wHuCuest allemasen (1 Mark Questions)

v
v
v

<

allenm eteml 1 (LFHev 14 eued @ LHICUSHT 6ll6vTHEH6IT.

Qb 14 elenmbsEndG allenl wWeflds Geuemi(BLb.

@@ WHICUT elenmodsemen sl(paHId Curgl elent etewr, alewl b@&BuiG (option), elleni
ot Flwmss 61(1pH Ceuemi(BHLD.

QeuBenm 61pHID CUTH DHSH Heusid CHeme.

gGleureticy ellenrm eTevdTEEMETEUIT, 6lleMLSGSMIUIL 6w GuiT LomBT 6I(DSHIEUSHBHTEN GUTUILILIGET DIHSLD.
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-

Gmy Guwsowswksww (Time Mangement) ]

(&

AleITSST6IT LG . v alammgsremst sl duledmba
(Question paper reading) 10 minutes LIQHH60 VLD

allenL SHFHmerile0 LIg Glev 6wt vV o186 SIS BIFliLeD
(waelweumens 61pg (Writing register | 5 minutes
number in answer booklet)

8 AIQLIEHT 66w eH61 v s 15 Bl -euemguL b Graph
8 Mark Questions 30 minutes v 2eu@l 15 HIOLID -GFuiupens
(Q.No. 43 to 44) augedluied Practical Geometry

5 WEHIGLIEHT 6160 H6iT 20 minutes vV om Caeele@ 7 BOLRIGT 6fsiD
5 Mark Questions (Q.No0.29 to 42) 10 Gmeitalldb@ 70 HIOL MibH6IT

2 wAIGLI6HT el6Te o6l 40 minutes vV om Csealeg 4 BIOLkiseT eisid
2 Mark Questions (Q.No.15 to 28) 10 GxeitaldbE 40 BILOL miGH6TT

1 WAHICLI6TT 66T H6iT 20 minutes v sfuns ufsy Oslbs Cwsiielse 1 BLOL D

slgauoten Cwsiield@ BHD 2 siten  CHIHMSH
LwsI(pSHS Cssitem Gausmi(BL.

1 Mark Questions (Q.No 1 to 14)

Hmiyseo Revision 20 minutes
12.55 PM to 1.15 PM
QLTSS  LFHIICILIGHISHENT 3 hours + 15 minutes

vV apdw eflenlsemen @mpens Sl uniTeas GeuemiBin.
vV 1phsaImT @ EICLTET eleiTohaeEhohE afengd 616w LOTBTOE LGS0
SeMds (PpwBd GFuIweLD.

vV oler eleiigEpD elenlsEpd FuTe: 61IpSHIILL BeTenST 6lailmsd 2 Mg CFuIubise.

v Revision Gguiujb Gursl sieummibasrer shortcut & LWEILGSHE alenlsemen FRLMTEBSID.
aom 4x?2 —7x—2=0 o smallu@ssso (Factorization) wpewmuisd & etetim
alemelBg x = —i ,2 etenl elleml HemLHGD. QH Flwmensr et Canghlds x = —i
BB X = 2 66 4x% —7x — 2 60 AU LLT6D Sipeht allenlwins 0 SewL @b,
Sty 0 FMLHHT60 Bog alenl FfwTersTGLD.

CuoBsewi_engd GuTeL BB eMeThsEnHEGWD Cross check GFuiweyib.

v GumsewiL Gry Gsvmemienoenul LWeiLbhHS ordfleCaTeaysmen siupdll UTThs Gousm(Bd. BiliLIg
apeiml  wewll GBI OHTLIFFWTE  HewLdbmalsvensy  elaflsd DbBHHSH — LIGHHBEHHG
CaTBHSILLBeiTen ChIHend HembdHe0 BTG  61(1pd LMTHHIGST. QHTLT (wwid L HOw
CeuBpSlenul  H(HLD.

v o gflwre uded Oxflbs GCoeieldendd GBID GmBaUTE  TBHHHIHOBTRILMT6D  HIg6aTLDTEN
CoeiaildEnd@ WHD 2 6Ten GHIHend LWELGHH OSBT6TemevTLD.

wtsteam100@gmail.com WWW.Waytosuccess.org
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[ aisnLwafEzgso (Answer writing) ]

@yewm® w6 (2 Marks) wipid mbg AU alamesenda (5 Marks)  sSpodaesiLaumg
alenLwefds Swryres GeuewmiBLD:

1. @&sHyw (Formula) :

v @alQeurp uTL&&Heud (Chapter) o siten @ ohalymsenen  (Formula) uuimd  (Excersise)
amflume  swrm  QFug  OQsmeten Geuswi(BLD.

v U0  TewiaNTBEHD  “@Gsdrmisenen  (Formula) eaeemed  Bavealed emeudg  Oemeiten
WRWale0eme0, SLEITEVID BT  @EICUT[H  (PMBULD  LUHSHBHMEH MaUHSH  OeTIUTL LD
CFUIHCB6. Lev (Ppewm 611 LNTHECBET 6160 Fn 3185 GNBEIIT.

vV @sHimsmen (Formula) Ouimissaimy Boaalsd masss0stsmen dAphs af S
SILLGw weriuTL D GFuwieumsd SHalfshal, Uflbha Osmewih UgsHsGealem(BLb.

2. Wpaui@sed (Substitution) :
vV Qan@ssiiul Beten alamsseied 2 6ol HEalvsmen WaF sluns aBHsl 61105 GCalemiBLb.
v o _gigeauions Oarhésiiul L alamaled b (Radius) 5cm  eeis Ca1GHENILIIG BHHEGLD,
apemed el Lib (Diameter) 5cm eter 61(BHg Hewidbend GUTBEUSHBHTRN GUTUILILIH6T DIFHBLD.
vV Saeump  gBuBD  Seump  SHaliies  alamaled 2 6l HdalcddHmeT  FIWTH  IBSHS
61 BHOBmeTen Gouemi(BLD.
3. semss®h (Calculation):
v wiemiauael Feo, el SHTelled allenlenul LGsID LGsITE 61(1pHamed HIIGLIGHT SigHIons
LSS 6160 H(HAHISHBTTHENT.
V. SeITed  Selaimyl  LSshsEhHE WHUICLemT  eupkisliLBeudevamev. Gogib Calculation-gg
CuTBISSHauemy CxHemeuwmenr Step EmbHTCD GUITHILD.
v Step by Step ey GuT LTed HTa allenl. QUIBHID 6160 SHIHBILIQITHGIT (LPIDEDIOUITS GLITL 6UTLD.
vV @aiteut alamalpgomer Rough Work senen allenl Samelet aueolILBIOTeG  61(LDSIBIHET.

4. efenL (Answer):

vV BIBnGG BN 6BEs GalemiBh 6 ShELaITE e DHS Baeld CFaHs Galemngul LGH B!

vV glaaied alenlenul 6iBHSH 6i(pGID CUTEHI SieuddsiT aiuime CUITLILL BelTengT 6lell Halaidsd GaleuiBLo.

vV 2 gipenions, SpuSesTmen  algalulsd, BaSHe| o eefll L uTLkiselled el augeled
alenLsemen 61(psH Geuewi(HLb.

vV oleLsemen  eip@id  CUTEH  DgSHBHe0, HHBHHBmN  (PBIREITE  HelBHRIGT.  HIBTH
awFHallLmed oiHeibsl @6 @m Carh CUTLGRILG 6rpHIumEH CHTL (HRISE.

vV L SBM6T DgHH0 HHHH0B6T s UMTILSBE DpHTH RMHbHs CeuewiBo.  GoBeFmeien
N BeUTFMEUNBEIT DMEMHMBHWID HlgenT 2 eWIPLILL 60T CFTHHI HemL LNQUMBISH6IT.

vV saflasdlsd a0 (centum) o _misell eugFiD.




